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11 3 31
87,346 | 6,581,705 11,966 | 1,188,295 | 233,911 | 771,202 | 333,222 | 8,541,204
11 3 31
11 3 31
715 4,689 226,620
1,739 268 33,196
366 112 7,716
11 3 31
11 3 31
1,740 1,341
1,058
1,740 2,400
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O C )

1,419.97 | 938,060 $63.8.10 | 12
50 H12.3.31

2,773.63 | 192,688 549.8.1 25
H12.3.26

1,524.28 | 191,931 $63.9.1 11
H12.3.31

1,719.57 | 156,209 549.8.1 25
H12.3.31

13,995.88 | 4,828,997 H8.7.1 4
12.6.30

3,615.93 | 186,776 H10.2.1 2
12.1.31

6,630.41 | 4,769,865 H8.7.1 4
12.6.30

10,014.83 | 108,243 $56.6 18
H12.6.30

862.52 1 4,205
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1,777.91| 17,161,454
132.65 533,916
71753 | 3,458,494 12
1,927.86 | 6,194,098
1,185.4 970,044 12
749.40 | 2,323,923
155.22 172,076
290.96 46,553 12

2-5




